


or greater than the LSD value at the bottom of the column, you can be sure in 9 out of 10 chances that
there is a real difference between the two values. Treatments that were not

significantly lower in performance than the highest value in a particular column

are indicated with an asterisk. In the example below, treatment A is significantly

different from treatment C but not from treatment C but not from treatment B.

The difference between A and B is equal to 400, which is less than the LSD

value of 2.0. This means that these treatments did not differ in yield. The

difference between A and C is equal to 3.0, which is greater than the LSD value of 2.0. This means that
the yield of these treatments were significantly different from one another.






Figure 1. Impact of pl



